The mapping T : P, — P, defined by T(a, + af +a,r’)=a, +2a,f =% A/ﬂ”é /ﬂ-.é g{Z’M —/M%/
is a linear transformation. A tha a’w Vi Q;M

Find the B-matrix for 7. when B is the basis {1. 7. 7'}. Pz + A+ a 9 -
(a) ind the B-matrix for 7. when B is the as_.ls{ } _7/(.% /i A?‘ :_5 Q’?La,f#_a"!fy, a/f'o&;if

(b) Verify that [T(p)]s = [7]s[p]s for each p in P».
Solution T(/)r O\ a delivalwe %msi”ﬂéi
(a) We have to find the B-matrix of T:F" — V" satisfies 7’( _L;)_,__ VA /Mﬂ/ aZwo. ‘2{ ?J. > :z',"fmxpz
[T(x)]; =[T],[x],. forallxin¥ 5 B
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Since T'(a, +af +a,t’)=a, + 2a,f therefore

TWH=0.T(H=1T(@)=2t

0 1 0
[T(D)]z = [OJ, [T(D)]z = [0] [T(H]; = {2] / ;'-é j%v,iwe
0 0
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